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Shivangi Gupta 21 hours ago (edited)

Hw: 16400
2700

Thank you sir for the awesome session
51 CJ Reply

+ 1 reply

Tanmnu Jain 12 hours ago

Homework Ans is

1) 16400, 2) 2700

Thank you sir for this helpful session

C I Reply

+ 1 reply

Aalap )
Amazing g0 Thank You sir

—

HW ANSWER: 16400 & 2700

" Answers 16400, 2700 nice session sir thank you very much




Real Cha m ps— _ Niharika Jha 21 hours agc :B Atigya Garg 21 hour

Homework answer: Homework ans is :

16400 and 2700 a) 16400
Thank you for the tricks & b) 2700

[ﬁ7 ' 93 Reply

v 1 reply

Thank you sir ji

Surbhi Sinha 13 hours agc
Homework question answer 16400,,,27000 brilliant session

[ﬁ ' gl Reply

v 1 reply Priya Mandal 19 hours ago
16400,2700

Simran Chauhan 20 hours agc

hw ans :

a) 16400

b) 2700

thank you sir for this wonderful session =




Amanvi (Sadhvi) 12 hours ago
H.w. 16400, 2700 sir session was 5o amazing wonderful....jo bhi bolo vo km hai meri percentage ki class bhi Miss hogyi thi to aj

cover hogyi sir..... Really sir session was so helpful for all ek request hai sir apse ki ap H.W. questions ko ek bar solve jarur kra de
hm bhi match kr paye jisse....jis din apki class ni hoti sir missing Igta h kuch us din

752 CB Reply

v Treply

harsh sharma 18 hours ago

Today's homework answer is-16400

2700 thank you sir today's session is amazing sessions maja aa gaya bhout achha laga Aaj ka session like to banta h
sir sorry sir Live attend nahi kar pa Raha hu

751 CB Reply

v 1reply

Arjoo Srivastava 13 hours ago
H.w answer 16400, 2700....

Sir percentage pehle bhi padha hai....pr aaj new tricks sikhi percentage solve krni ki...... thankyou so much sir for the wonderful
session &




Rea I Ch a m pS- monika kumari 1¢

256.25%0f 6400=200%+50%+6.25%
=16400
64 2/70f4200=50%+14 2/7%
= 2700
Sir aaj bahut new sikha hai
Sir DI me fraction dekh kar ruk jate the lakin sir ab bahut achha kar payenge
Sir sach me aap ne to hamare man ki ichha he Puri kar de
you Sir
Very amazing session

O Tanisha p 12 hours ago
\ b7 Thank u s0 much sir aaj ka session kafi help ful haii simplification ko or strong or fast karne ke liye thank u sir
Homework answer
Q1- (200%+50%+6%+1/4)*6400
16400
Q2- (60%+4%+2/7%)*4200

2700






If 64 is added in a number then number becomes 157 1/7% of itself. Find the
original number?

TS Teh TEAT H 64 T ATAT § A HGAT T T 157 1/7% T ATAT 8| TA €E&AT 717

I

>4 S ;°/ 1. 112
f | Ll

3.114
4.132
5.NOT



If 930 is added in a number then number becomes 444 4/9% of itself. Find the
original number ?

TS Tk AT H 930 TS ATAT § AT HEAT U T | 444 4/9% BT ATAT g1 HeA €T

AT hITA?

b4 N ;°/ 1. 280
[ My,

3.270
4.230
5.NOT



A number is divided by 20 instead of being multiplying by 20. Find the percent
error occur in the result?

Tk HEAT T 20 | O A o TATT 20 & foraiora forar st g1 aitorms § wfaera Jie
ohT UdT ITa?

y- 4 N ;°/ 1. 96
[y,

3.25
4.4
5.NOT



A number is multiplied by 2/5 instead of being multiplying by 5/7. Find the percent
error occur in the result?

TSk TEAT T 5/7 © U i o 11 2/5 9 TorT fokart smat 71 wfvorm & wfera afe
qdT E?

( (20) > .
Y 2.44

3.27
4.29
5.NOT



A number is multiplied by 5/4 and then subtract 2 and then multiply by 3 instead of
being multiplying by 4/5 and then add 2 and then divide by 3. Find the percent error

occur in the result?

Ueh TEIT & 5/4 A 0T fham Sar & 3R B 2 gerar Srdar § 3R Y 3 8 9o far Sirar
€l 4/5 9 IO A & JoiF AR T 2 Ss AR O 3 & faenfad &1 aRoma & gfdera

IfC T TAT AIMT?

/= > 1.2010
b |‘l=D ',

3.230
4.350
5.NOT



If the population of a town is 40000. If it will increase 20% in 1st month and
decrease 10% in 2nd month. Now find the population of the town after 2nd month?

i Teh AT Pl FTAEEIT 40000 &1 MG TE Ugd AL H 20% de 3R g@X AL H 10%
¢ S| 37 g8 AL & d1g AT N FAHEAT AT Hifera?

= > 1.34300

3.43200
4.89700
5.NOT



If the income of a man is 56000. If it increases 16 2/3% then decreases 7 1/7% then
increases 30% and then decreases 14 2/7%. Now find his income?

I Teh TSHT Y 31T 56000 &1 IS TE 16 2/3% dear &, &Y 7 1/7% gedr &, TRT 30%
dedl & 3R ™ 14 2/7% 9 JATAT &1 319 3HAT 3T AT hIfaw?

= > 1.56700

3.42800
4.89700
5.NOT



If the population of a town is 56700. if it decreases 10% in every year then find the
population of that town two years back?

Ife Th A H FTATEAT 56700 & e IE & TTT 10% hA & STdl &, ab & Tl Ugel 39
Qe hT TTET AT DhIToTd ?

= > 1.32000

3.60000
4.70000
5.NOT



In a factory the production of toys rise to 25600 from 19600 in 2 years. Find the rate
of growth per annum ?

TS THRET W RIS T T 3eUTe 2 Tt J 19600 H TGHRT 25600 T ATAT 8| i 9 ATy

T AT hIfTU?

/D > 1.14 2/7%
( |‘l=D ',
w7 ) 2.162/3%

3.141/7%
4.16 1/3%
5.NOT



If the income of a man is 70000 rs. He spends 30% in rent, 20% in travelling and
10% in watching movies then find his savings?

Ife foret safxe T 2= 70000 TUX 1 98 FTRIT T 30%, AHTH 20% 3R e e@T o
10% T hdT &, a7 IAHT Terd JTd hITTA?

2.20000
3.21000
4.36000
5.NOT

(@) 1.28000



If the income of a man is 84000rs. He spends 16 2/3% in rent, 14 2/7% in travelling
and 7 1/7% in watching movies then find his savings?

Ife Uk TTEH T AT 84000 TU B I8 FRTT o 16 2/3%, ATATH 14 2/7% AR fohedt

TEAH 7 1/7% @ HIdAT 8, a5 IHehl ToId AT hi oA ?

2.26000
3.36000
4.52000
5.NOT

( w m> 1.32000



If the income of a man is 70000 rs. He spends 30% in rent , 20% of the remaining in
travelling and 10% of the remaining in watching movies then find his savings?

Tt fardt safxe Y 3= 70000 TUX B 8 TR0/ 30%, T T 20% ATATH 3T T T
10% Thed 2@ W T AT 2, aF ITh! a=id JTd hIT?

/e~ > 1.32270
b |‘l=D ',

3.35690
4.44909
5.NOT



A man spends 30% in rent, 11 1/9% of the remaining in travelling and 9 1/11% of
the remaining in watching movies. If his savings is 56000rs then find his income?

Uk STk TohTTT / 30%, ITATH AT AT 11 1/9% T AT HT 9 1/11% Thed @9 T @=
AT 2l TS IThT Td 56000 TUH &, AV IThHT ATT AT hiTorr?

2.99000
3.75000
4.80000
5.NOT

( w m> 1.77000



The difference of two numbers is 15% of their sum. The ratio of large number to the
smaller number is ?
Y AT ST A IR ART T 15% Bl TET TCAT 3R BIET AT T ATUTH FT 82

= > 1.23:17
R} ':"j & 2.11:9

3.17:11
4.23:11
5.NOT



